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‘book’ is coded as ‘pencil’, is coded as

@ mirror is coded as ‘book’. Then what is
1l'to write on a paper?

masm#aﬂ%aﬁﬁmm%w
®T H PIfST AT AT §, SUuT B &y’ & §q
feram 7T ¥ 1 R v e | foraa & fore

T 3T &2
VV Wwb

L/’ e




/

‘man is coded as ‘woman’, woman is coded as ‘girl’,

S coded as (b ‘boy’ is coded as ‘worker’
emale is known as?
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If 'dust’ is called 'air’, 'air' is called 'fire’, 'fire’' is called
‘water’, is called '€olour’ ) ‘colour’ is called
‘rain’ and ‘rain’ is calied *dust’ , then where do fish live
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‘Reds’ are ‘blues’, are ‘whites’, ‘whites’

are ‘yellows’, ‘yellows’ are ‘oranges’,
‘oranges’ are ‘pinks’, then what is the colour
of the sky?
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If REQUEST IS written as SZR 2TU, then how

will ACID be written? S

(A) 1394 (B) 1IC94
(C) BDJE (D) B3J4
AC 1T D
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IfA=2,M=26,Z= 52,
then BET=? <2~ 7
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If ZIP = 198 and ZAP = 246, then how will
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@m@@s written as ‘dand

‘tngger process off’ is written as o ma mil zu’, and

completed off process’ is written as ‘mil ka zu@and

‘trigger and alert/completed’ is written as ‘ak ka/ri ma
R
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In a certain code, 3 eans GOD(S)
means(LOVE)IS)BEATIFUL ,

What is the code for “GOD” ?
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In a certain code language who @re )

you is written as 432 and they is you is
written as 485. and they @aredangerous is
d

written as(295. How is dangerous written
in that code language?
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In a certain code language
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1. Which of the following code for ‘translate’?
A. @E8

B. @ES

C. #E8 X

D. #T8

E. #T9

2. Which of the following code for ‘plan’?
A. %N5 X

B. @E4 X
C.&N4_ —

D.#EG)Q o
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“read notes get job” is written as “+3b !4d =5s %3t"
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. Which of the following code is for rankers?
A. @6l B

E. None of these
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. According to the above information, code !7d is used for?
A. study —

B. exam
C. related /




. What will be the code for “exam rankers‘ébl sbi job™?
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. According to the coding, what will be the code for banking?

A. @79
B. &7h X

C. 7t ~)
D. one><<))f these T -7

E. can't say / 2
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Check Qﬂg‘m and_ yankers
“login rankers and check” is coded as “$4e|%4g #2n @6k”
o

“reads article study there” is coded as “@6i #4u Etlg Poda”
LS

‘comment about yours doubt’ is coded as E@4o %6m #4u”
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"get clear exams enjoy" is coded as "@4e #4a ﬂ/ﬂe”
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. What is the code for the exams?
A. @4e

B. #4a v

C. 94

D. %2e
E. None of these



. What is the code for the study?
A. $4e

B. #4u "
C. %4a

D. @6i
E. None of these




temperate winter negative feeling’ is written as ° ‘0&C
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‘positive results weather report’ is written as ‘ e@R e#Q 93@
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‘today positive decent found’ is written as|‘@6A |\@6V &7B @5Q"

‘people attend daily party IS written as @6\_{ *6V #5B @SA’

‘regular fitness sound health’ is written as @GA @8P #80 @5FE’

‘picture perfect quality movie’ is written as ‘#6B #8B #8V @8Q’
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Alphabet T o cC G A /s H K
Symbol S & ’ ? @ = £ A
Directions : Given below are codes for a few alphabets, based
on the coding answer the following questions:

Q . How will the word ‘\ICen\s”\Sbe written in coded language?
1.$%8&* y

2.74%@ — At /. (@

3.@#%$% >O

4.+@#%>0
5.&+#E
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Q. If the code for@s exchanged witt@code formis
exchanged with@and_so on, what will be the code for

word “SKIP”?
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A'phabet ! N ‘ G S E H K |
Symbol $ % : e + £ £ A

Q . What word will be formed when the given code is
decoded: *?&EA%"

Skipping \ ? ‘?

Winning l
Packing . (7 ﬂ C
Gapping

Seeking



Numbers 9 2 1 7 5 3 6 4 8

Codes B NS R e e " A F R

Directions - Study the following information carefully and answer the questions given
below it.

Conditions 7

(i) If the first as well as the last digits are even, both are to the coded by the code
for the first digit. T

ﬂﬁ;@ﬁtﬁ%ﬂ?ﬁﬂﬁ,wmm{mm#mmeaMamh

(ii) If the first as well as the last digits are odd, both are to be coded by the code for
the last digit.

IfE ged AR ATy & A 3w Awa T, ar 211 &1 A 3 & iz gRy iz R sner g







Numbers 9 2 1 7 5 3 6 4 8

Codes B \'/ M L D P A F R

PAVIM R P

MMRP 2}6 DAVMRD (76)PAVMRD (}ﬁJAVMRP (e) None of these
2. 627851 /A\\/)/ K/D M

(a) PULRDM (b) AVLDRM (c) AVLFDM (d)AVLRDM (e) None of these

LMVPD K

(a) RLVPDF (b) FMVPDF (;,yR/ MVPDR (d) None of these



Numbers 9 2 1 7 5 3 6 4 8

Codes B4 A% M) AR F A F R

4. 397416

(a) PBLFMP (b) ABLFMA (c) PVLFMA (d) PBLFMA (e) None of these

5. 734192

(a) DPFMBV (b) LPAMBYV (c) LPFMVB (d) LPFMBYV (e) None of these



Numbers 5 1 3 4 9 6 8 2 7

Codes P A K % R @ D [ M

Conditions
(i) Ifthe first digit is odd and the last digit is even, the codes for the first

and last digits are to be(reversed]
e ggar 3 AuA § 3R AAH 3E §H &, a uga 3R ATAH 3F & i

Uae &0 ST &

first and the last digits are even, both are to be coded as %*.
3R 3T 37 F/A T, A 311 Bk & T A HiiSa ar S g

(i) If
21%

first and the last digits are odd, both are to be coded as $.
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Numbers 5 1 3 4 9 6 8 2 7

Codes P A K % R @ D 7] M

1.215349 — AP K ¥ KR
(a) RAPK%!  (b) *APK%* (c) $APK%$&¢{ APK%R (e) None of
these )K M A I: V) *

2. 671254
(a) @MA | P% (b) SMA P$ (cYMA | P¥% (d) %MA | P/ (e) None of

e DAKL R R

(a) RAK%@W)AK%@R (c) DAP%@R (d) XAK%@% (e) None of

these ge (K / DD <P

4. 794821 :
(a) MR%D A (b) AR%D M (c) M%RD A (d) $R%D '$







